


,ay;nghj;j Kf;Nfhzpfspd; Njw;w kWjiy 

 

 

 

  

nraw;ghL :-  

 

 

  

 

  

cUf;fspd; ePsq;fspw;Nfw;g ………………… 

i. 
𝐵𝐶

𝐸𝐹
 ,d; tpfpjj;ij vOJf. 

 

ii. 
𝐴𝐶

𝐷𝐹
 ,d; tpfpjj;ij vOJf. 

 

iii. 
𝐴𝐵

𝐷𝐸
 ,d; tpfpjj;ij vOJf. 

 

iv. tpdhf;fs;  (i)> (ii)> (iii) ,d; tpfpjq;fis xg;gpLf. 

 

 

v. ,t;tpfpjq;fs; rkdhdhy;> Njw;w kW jiyg;gb mt;tpU 
Kf;NfhzpfSk; ,ay;nghj;jit MFk;. 
 

mjhtJ :-   
 

∆ 𝐴𝐵𝐶 

∆ 𝐷𝐸𝐹  ,ay;nghj;jit MFk;. 
 

Njw;wk; :-xU Kf;Nfhzpapd; %d;W gf;fq;fSk; ,d;ndhU Kf;Nfhzpapd; 

%d;W gf;fq;fSf;Fk; tpfpj rkdhapd; mt;tpuz;L 

Kf;NfhzpfSk; ,ay;nghj;j Kf;NfhzpfshFk;. 

 

𝐴 

𝐵 

𝐶 

4𝑐𝑚 8𝑐𝑚 

6𝑐𝑚 

𝐷 

𝐸 

𝐹 9𝑐𝑚 

12𝑐𝑚 6𝑐𝑚 



 

 
 
 
 
 
 
 
 

vi. Nkw;gb Kf;Nfhzpfspy; rkdhFk; Nfhzr; Nrhbfs;. 
 
 

 

 gf;fk; 𝐵𝐶 ,w;F vjpuhd Nfhzk; 𝐴̂ ck; gf;fk; EF ,w;F vjpuhd Nfhzk; 

𝐷̂ ck; vd;gjhy; 𝐴̂ = 𝐷̂ MFk;. 
 

,t;thNw 
 

 AC ,w;F vjpuhd Nfhzk; 𝐵̂ MFk;. 

 

 DF ,w;F vjpuhd Nfhzk; ________________ MFk;. 

/ 𝐵̂ = ________  MFk;. 

  

 AB ,w;F vjpuhd Nfhzk; _________________ MFk;. 

 

 DE ,w;F vjpuhd Nfhzk; _______________ MFk;. 

 __________________= 𝐹̂ MFk;. 

 

 

 

 

 

 

 

 

 

 

𝐷 

𝐸 

𝐹 9𝑐𝑚 

12𝑐𝑚 6𝑐𝑚 

𝐵 

𝐶 

4𝑐𝑚 8𝑐𝑚 

6𝑐𝑚 

𝐴 



gapw;rp :- 

 

 

 

 

 

07. cUtpy; jug;gl;Ls;s ePsq;fSf;F Vw;g …………… 

i. 
𝐴𝐵

𝐷𝐹
 ,d; tpfpjj;ij vOJf. 

 

 

 

ii. ∆ 𝐴𝐵𝐶, ∆𝐷𝐸𝐹 ,ay;nghj;jit vd fhuzq;fSld; fhl;Lf. 

 

 

 

 

iii. Nkw;gb ,U Kf;NfhzpfspYk; rkdhFk;. Nfhzr; Nrhbfis 
vOJf. 

 

 

 

 

 

 

 

 

 

𝐴 

𝐵 
𝐶 

2𝑐𝑚 4𝑐𝑚 

3𝑐𝑚 

8𝑐𝑚 
4𝑐𝑚 

6𝑐𝑚 𝐷 𝐸 

𝐹 



08.  

 
 
 
 
 
 
 
 
  

i. ∆ 𝐴𝐵𝐸, ∆𝐵𝐷𝐶 ,d; ePsq;fSf;Nfw;g 
𝐴𝐵

𝐷𝐵
 ,d; tpfpjj;ij vOJf. 

 

 

ii. ,ay;nghj;j Kf;Nfhz Njw;w kWjiyia cgNahfpj;J 

∆ 𝐴𝐵𝐸, ∆𝐵𝐷𝐶 ,ay;nghj;jit vdf; fhl;Lf. 

 

 

 

iii. 𝐴𝐵̂𝐸 ,w;F rkkhd Nfhzk; xd;iw ngahpLf. 

 

 

 

iv. ePl;lg;gl;l 𝐶𝐷 MdJ 𝐴𝐸 I 𝐹 ,y; re;jpf;fpd;wJ vdpd; 𝐴𝐹 ,d; 
ePsj;ijf; fhz;f. 

 

 

20𝑐𝑚 

 

𝐴 𝐵 

𝐸 

2𝑐𝑚 

𝐶 𝐷 4𝑐𝑚 

8𝑐𝑚 
6𝑐𝑚 

15𝑐𝑚 




